1. Which of the following is associated with peaks in the business cycle? 


[image: image1.wmf]a. Relatively high levels of unemployment.
b. Recessions.
[image: image3.wmf]c. Relatively low levels of unemployment.
[image: image4.wmf]d. Both a. and b. above. 

2. TRUE OR FALSE: A recession occurs when real GDP declines during at least a six-month period of time. 

[image: image5.wmf]a. True.
[image: image6.wmf]b. False. 

3. How do we measure economic growth? 

[image: image7.wmf]a. Increases in the price level, as indicated by the GDP chain price index.
[image: image8.wmf]b. Increases in nominal GDP.
[image: image9.wmf]c. Increases in real GDP.
[image: image10.wmf]d. Increases in the labor force. 

4. Which of the following is the long-term average growth rate for the U.S. economy during much of the 20th century? 

[image: image11.wmf]a. 15 percent.
[image: image12.wmf]b. 10 percent.
[image: image13.wmf]c. The inflation rate.
[image: image14.wmf]d. 3 percent. 

5. Which of the following is a leading business cycle indicator? 

[image: image15.wmf]a. The unemployment rate.
[image: image16.wmf]b. The volume of outstanding commercial loans.
[image: image17.wmf]c. New building permits.
[image: image18.wmf]d. Personal income. 

6. How do the Bureau of Labor Statistics and the Bureau of the Census estimate U.S. unemployment each month? 

[image: image19.wmf]a. They contact each state's unemployment office and gather data on new claims for unemployment insurance.
[image: image20.wmf]b. They randomly survey about 56,000 U.S. households to determine how many people are in the labor force, and what proportion of them are unemployed.
[image: image21.wmf]c. They track released prisoners. These agencies adjust released prisoner employment status for job marketability to arrive at the prisoner unemployment rate proxy (PURP).
[image: image22.wmf]d. None of the above. 

7. Which of the following is the correct formula for determining the civilian unemployment rate? 

[image: image23.wmf]a. [(the number of unemployed, working-age civilians seeking work)/(the number of civilians in the labor force)] x 100.
[image: image24.wmf]b. C + I + G + (X-M).
[image: image25.wmf]c. The total number of unemployed, working-age civilians seeking work.
[image: image26.wmf]d. (The number of civilians in the labor force) x 100. 

8. Why might the official measure of civilian unemployment in the U.S. be an understatement of actual unemployment? 

[image: image27.wmf]a. Because some workers become discouraged and no longer are actively seeking work. Thus they are not officially counted in the labor force, and consequently are not officially unemployed.
[image: image28.wmf]b. Because the official measure of civilian unemployment fails to account for very high levels of unemployment among active-duty military personnel.
[image: image29.wmf]c. Because the statistics count part-time employment as being no different from full-time employment, even though many part-time workers would prefer to be fully employed.
[image: image30.wmf]d. Both a. and c. above are correct. 

9. TRUE OR FALSE: Unemployment rates in Germany and France have been far lower than in the U.S. during the mid- and late-1990s. 

[image: image31.wmf]a. True.
[image: image32.wmf]b. False. 

10. Which of the following offers an example of seasonal unemployment? 

[image: image33.wmf]a. The rise in unemployment for stable workers after the development of gasoline-powered automobiles and the resulting long-term decline in horse-and-buggy transportation.
[image: image34.wmf]b. The rise in unemployment among farm workers after harvest.
[image: image35.wmf]c. The unemployment associated with workers changing jobs.
[image: image36.wmf]d. None of the above. 

11. Which of the following offers an example of structural unemployment? 

[image: image37.wmf]a. The rise in unemployment for stable workers after the development of gasoline-powered automobiles and the resulting long-term decline in horse-and-buggy transportation.
[image: image38.wmf]b. The rise in unemployment among farm workers after harvest.
[image: image39.wmf]c. The unemployment associated with workers changing jobs.
[image: image40.wmf]d. The increase in unemployment during recessions. 

12. When macroeconomists refer to "full employment," what do they mean? 

[image: image41.wmf]a. Full employment occurs when the unemployment rate equals zero, and is easily achieved during growth periods in the economy.
[image: image42.wmf]b. Full employment occurs when there is only seasonal unemployment, and all other types of unemployment have been eliminated.
[image: image43.wmf]c. Full employment occurs when there is only seasonal and structural unemployment, and all other types of unemployment have been eliminated.
[image: image44.wmf]d. Full employment occurs when there is only seasonal, structural, and frictional unemployment, and cyclical unemployment has been eliminated. 

13. To what does the "GDP gap" refer? 

[image: image45.wmf]a. The difference between real and nominal GDP.
[image: image46.wmf]b. The difference between this year's real GDP and last year's GDP.
[image: image47.wmf]c. The difference between "full-employment" real GDP and actual real GDP.
[image: image48.wmf]d. The difference between real GDP in former trough and real GDP in a current trough of the business cycle. 

14. When is the GDP gap largest? 

[image: image49.wmf]a. During peak periods in the business cycle.
[image: image50.wmf]b. During trough periods in the business cycle.
[image: image51.wmf]c. When unemployment rates are relatively low.
[image: image52.wmf]d. When cyclical unemployment is close to zero. 

15. Which of the following demographic groups in the U.S. tend to have the highest unemployment rates? 

[image: image53.wmf]a. College graduates.
[image: image54.wmf]b. White working-age people.
[image: image55.wmf]c. African-American teenage females.
[image: image56.wmf]d. All working-age people with a high school diploma but no college. 
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